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(5)

(6)

(7)

Section-A

Total 25 Questions are given in this section. Choose any five questions
from the following. (1 Mark for each) [05]

Select the Correct option:

Which tissues have very active cells?

(A) Permanent tissue (B) Connective tissue
(C) Meristematic tissue (D) Complex tissue
Which of the following tissues has dead cells?

(A) Parenchyma (B) Sclerenchyma
(C) Collenchyma (D) Epithelial tissue
Which cell does not have perforated cell wall?

(A) Tracheids (B) Companion cells
(C) Sieve tubes (D) Vessels

Cartilage is not found in

(A) Nose (B) Ear

(C) Kidney (D) Larynx
Contractile proteins are found in :

(A) Bones (B) Blood
(C) Muscles (D) Cartilage

Rocket works on the principle of conservation of -
(A) Mass (B) Energy

(C) Momentum D) Velocity
What is the length of longest nerve cells?

(A) 0.5m (B)1m
(C()15m (D)2m



(8)  S.I unit of impact of force is
(A) Newton (B) Newton Second
(C) Kilogram (D) Meter / Second

(9)  According to third law of motion, action and reaction
(A) Always act on the same body
(B) Always act on different bodies in opposite directions
(C) Have same magnitude and directions
(D) Act on either body at normal to each other

(10) A passenger in a moving train tosses a coin which falls behind him. It means that
motion of the train is -

(A) Accelarated (B) Uniform
(C) Retarded (D) Along circular tracks.
(B) Fill in the Blanks:
(1)  The resultant force of the balanced forces is
(2)  The product of mass and velocity is
(3) tissue makes up the husk of coconut.
(4) Stomata are enclosed by two Kidney-Shaped cells called ______
(5)  Blood has a fluid (liquid) matrix called .
(C) True or False:
(1)  Phloem transports water from leaves to the other parts of the plants.
(2)  Blood is a type of connective tissue.
(3) Bone cells are composed of calcium and phosphorus compounds.
(4)  The SI unit of force is Kilogram.
(5) A force can change the shape and size of objects.
(D) Answer the following as directed:
(1) Whatis inertia?
(2)  Define momentum.
(3) Whatis tissue?
(4) Name the tissue responsible for the movement in our body.

(5) Name types of simple tissue.
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(21)

Section - B

Total 25 Questions are given in this section. Choose any five question
from the following : [2 Marks for each] [10]

What is the utility of tissues in multicellular Organisms?
Differentiate between - Meristematic tissue and Permanent tissue.
How are permanent tissues form ?

Differentiate between - Chlorenchyma and aerenchyma
Differentiate between - Bone and Cartilage.

Explain blood tissue

Where is cartilage present?

Give three features of cardiac muscles.

What are the functions of areolar tissue?

What are the functions of stomata?

How many types of elements together make up the xylem tissue?
How does the cork act as a protective tissue?

What is the role of epidermis in plants?

Draw a neat and labelled diagram of Neuron.

Identify the type of tissue in the following:

Skin, bark of tree, bone, lining of kidney tubule, Vascular bundle.
Give reason - When a carpet is beaten with a stick, dust comes out of it.

Give reason - It is advised to tie any luggage kept on the roof of a bus with a
rope?

Give reason - It is difficult for a fireman to hold a hose, which ejects large amount

of water at a high velocity.

How can a horse pull a cart? Explain with the help of Newton’s third law of
motion.

From a rifle of mass 4 kg. a bullet of mass 50 g is fired with an initial velocity of
35 m/s. Calculate the initial recoil Velocity of the rifle.

An automobile vehicle has a mass of 1500 kg. What must be the force between
the vehicle and road if the vehicle is to be stopped with a negative acceleration of
1.7 m/s??



(22)

(23)

(24)
(25)
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(2)
(3)
(4)

(5)

(6)
(7)
(8)

9)
(10)

Using a horizontal force of 200 N, we intend to move a wooden cabinet across a
floor at a constant velocity. What is the friction force that will be exerted on the
cabinet?

Explain why some of the leaves may get detached from a tree if we vigorously
shake its branch.

Give reason: A person alighting suddenly from a moving bus falls down.

Why do the passenger standing in a bus tend to fall backward when the bus
starts suddenly?

Section - C

Total 10 Questions are given in this section. Choose any two questions
from the following : [ 3 Marks for each] [06]

Write Newton’s second law of motion. Derive F = ma.
Write and explain Newton'’s Third law of motion.
Explain the effects of external force on the object.
Which of the following has more inertia:

(@)  Arubber ball and a stone of the same size?
(b)  Abicycle and a train?

() A Five rupees coin and a one-rupee coin?

A motorcar is moving with a velocity of 108 km/h and it takes 4S to stop after the
brakes are applied. Calculate the force exerted by the brakes on the motorcar if
its mass along with the passengers is 1000 kg.

Explain the location, structure and functions of parenchyma tissue.
Give three points of differences between xylem and phloem.

Name the following:

(a) Tissue that forms the inner lining of our mouth.

(b) Tissue present in the brain.

(c) Tissue that stores fat in our body.

How are simple tissues different from complex tissues in plants?

Explain types of muscular tissues.



(1)

(2)
(3)
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(5)

Section-D

Total 5 Questions are given in this section. Choose any One question
from the following: (4 Marks for each) [04]

Draw a neat and labeled diagram of Neuron.

Explain Location, structure and function of nervous tissue.

Explain the types of epithelial tissue.

Are plants and animals made of same types of tissue? Explain in detail.

When the card is flicked with the finger, the coin placed over it falls in the
tumbler. Explain the experiment with the help of diagram and give conclusion.

Explain conservation of momentum.
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Gujarat Secondary and Higher Secondary Education Board,
Gandhinagar

(010) Social Science (E)
Question Bank-3 (September 2022) pate:29-9-2022

The school will have to conduct a unit test on its own by preparing a 25 marks
question paper as instructed in the question bank given below.

Section A
Do as directed : (1 mark each) [05]
(A) Match the following :
A B

(1) 1905 - Partition of Bengal

(2) 1915 - Arrival of Gandhiji in India

(3) 1922 - Chauri-Chaura incident

(4)  Ganga of South - Godavari River

(5) Lake Chilka - Lagoon Lake

(B) Fill in the Blanks:

(1)  Jallianwala Bagh is situated in the city of
(Srinagar, Amritsar, Agra)

(2) Gandhiji had condemned the as the "Black Act’.
(Hunter Act, Rowlatt Act, Dyer Act)

(3)  The trio of Lal, Bal, Pal adopted the policy of .
(redicals, moderates, Swarajyas)

(4) started revolutionary activities in India.
(Vir Savarkar, Khudiram Bose, Vasudev Balvant Phadke)

(5) Gangais known as in Bangladesh.

(Meghna, Hugli, Padma)



(%)

(D)

(E)

Write True or False :

(1)
(2)
3)
(4)
(5)

Bengal was the largest province during due British Rule.

Gopal Krishna Gokhale was the political mentor - Guru of Gandhiji.
River Narmada has formed the Shiv Samudram falls.

Mahana river is the largest peninsular river.

River Sindhu emerges from near Mansarovar in Tibet.

Answer the following in one or two sentence :

(1)
(2)
(3)
(4)
(5)

By what name is the day of partition of Bengal known as ?

Which organization was established by muslims in 1906 ?

By which name is Brahmaputra river known in Arunachal Pradesh ?
Which river originates near Amarkantak in Madhya Pradesh ?

Which lake in Rajasthan produces salt ?

Choose the right option and answer the following questions :

(1)

(2)

(3)

(4)

(5)

Who prepared the stage for armed revolution in Gujarat for the first time?
(A) Chhotubhai Purani (B) Baarindranath Ghosh

(C) Arvind Ghosh (D) Ambubhai Purani

Who hoisted the Indian National Flag in the foreign land for the first time?
(A) Shyamji Krishna Varma (B) Rana Sardarsingh

(C) Madam Bhikaiji Cama (D) Madanlal Dhingara

Which lakes are formed due to meandering of rivers ?

(A) Lagoon (B) Ox-bow

(C) Oval-Shape (D) Square

Which of the following is not a peninsular river ?

(A) Godavari (B) Krishna

(C) Kosi (D) Kaveri

Which river basin is spread in Chhatisgarh, Jharkhand and Odissa ?

(A) Godavari (B) Narmada

(C) Maha (D) Tapi



Section B

Answer the following as required : (Each question carries 02 marks) [10]

(1)
(2)
(3)
(4)
(5)
(6)
(7)

(8)

9)

(10)
(11)
(12)
(13)
(14)
(15)
(16)
(17)
(18)
(19)
(20)
(21)
(22)

(23)
(24)
(25)

Who divided Bengal ? When and why ?

Why is Lord Minto described us "the Father of Muslim Communalism’ ?
Name the important revolutionaries in India.

Why did Gandhiji call Rowlatt Act as "Black law’ ?

Why was the Non Co-operation movement suspended ?

Why did the prestige of the Swarajya party decline ?

Name the revolutionary organizations that encouraged the revolutionary
work.

Why did the Indian Muslims start the Khilafat Movement ?

Write the names of the revolutionaries working outside India.

Why do rivers in Himalays contain water through-out the year ?
Why do devastating floods occur in Brahmaputra during monsoon ?
State the economic importance of rivers.

State the remedies to prevant water pollution.

Explain : Drainage Pattern and Water Divide.

“Godavari is named as Ganga of South’ - Give reasons.

Discuss the Narmada Basin.

Discuss the Tapi Basin.

Explain the utility of lakes

Name the lakes of India.

Pollution of river water has become our national problem - Give reasons.
What is meant by a River Basin ?

Who had played an important role in the establishment of the Muslim
League ?

Who had founded the Swarajya party ? Why ?
Name the Radical Faction leaders.

Explain : Madam Bhikhaiji Cama.



Section C
Answer the following questions point wise : [Each question carries
3 marks] [06]
(1)  Write note on Rowlatt Act.
(2)  Write a short note : Swarajya party.
(3)  Write a short note : Khilafat Movement.
(4)  Write the effects of the Non-Co-operation Movement.

(5)  Explain the Constructive Aspect and Negative Aspect (Non-Cooperation
Movement).

(6) Explain : The Great National Uprising of 1857
(7)  Explain the Fierce revolutionary movement in Gujarat.
(8)  Write Short note : Revolutionary movements in foreign countries.

(9)  Discuss the nature and effects of the boycott agitation. (Bang-Bhang
movement)

(10) Give difference : Himalayan rivers — Peninsular rivers

(11) Explain : Arrangement of river pattern.

(12) Explain the Sindu River System.

(13) Explain the Brahmaputra River System.

(14) Discuss about Krishna and Kaveri rivers.

(15) Explain the three stages of a river system.

(16) Discuss about Tapi and Maha rivers.

(17) Give brief information about the peninsular rivers of India.

(18) Explain the Non-Cooperation movement programmes.



Section D

Answer the questions in detail : (4 marks) [04]

(1)  Write a short note : Jallianwala Bagh Massacre

(2)  Growth and development of fierce revolutionary movements - Discuss

(3) Explain the programmes, event and effects of Non-co-operation
movement.

(4)  Explain the Ganga River System.

(5)  Write in details about the lakes of India.
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(6) x - 3yal UHIQl 3uHi €2l Aa a, b, ¢ (SHA 20K

(7) (2, 0) A U520 x - 2y = 40l G3A B ¥ ol8l A USIA

(8) (V2 4v2) A Als0U x - 2y = 40l GEA B ¥ olal A UsAL

(9) (1, 3) AW U520 3x + Ky = 9ol B3t dlal Al Koll (51 2.

(10) U820 Kx + 5y = 11 oll B3 (4, -1) &l Al Koll (SH 2.

(1) % W UR (g (1, 2) A 8a A wlle] AlsWw Aadl. vl d2cll
uls20L sl ?

(12) (-2, -9) A AH520 2x - y = 5oll G35 B ¥ olel A AUSIAL

(13)  ws(AHL vl PQ wal ull RS Aso{lostal (Glg oul BE &. %l LPQR: £ROQ =
5:7 &lal l AL WRURAL 20k,




(14)  UglAul x Aol yell Y1l AL

L

(15) sl vl AB el CD, OHL BE B. % 2AOC + 2BOE = 70° ¥a\ £BOD =

40° Al 2BOE ¥ [Quild £COE AnA.

C

o+

(16) 2XYZ = 64° WUUAA B A XY o (g P Yl datldd 8. AU Yuatl uel
ulslQ R Al (30l YQ, £ZYPall (Betss 8l dl £XYQ wal ([Quild 2QYPe]

U 0.
(17) sl %l PQ || RS, £MXQ = 135 ° el ZMYR = 40° 8, l £XMY A0l

P

e
<7




(18) glAui L AB 1 CD, CD | EF ¥l y : z = 3:7 8, cl xof 4 20t

K\

- s>
A X 3)
< 4 >
C \ D
rIv. N >

(19)  3Us(Aui %\ PQ |l ST, PQR = 110 ° Aol 2RST = 130 cl QRS Andl.

(21) vUs(Qul %l AB || DE, 2BAC = 35 ° 3\ 2CDE = 53°8la, cll «DCE A,




(22) glAQul L PQ UR [blg 0 wAg B. POQ ML 8. Al xof YU
8.

- 4y
#; 40° }t
P 0 Q

(24) As (A51Qetl R HUsl IJRNtR 2:3:4 8. L Al 282 wRIRAs
HW 2l
(25) wslAUl 21=60% 26 =120° Al WAL $A ¥ JVWRA m Al n URWR

AHLAR .




[Qeuoal - €

YEUR Grlr UL (EXSall 3 QL) [06]

(1)
(2)
(3)
(4)
(5)

(6)

(7)

U520l 2x + y = 76ll 2Rl G35l WAL

Uls0L 2x + 5y = Osll 2Rl G5l M.

AHls20L 2x + 9 = 0o A UMl AlRAAs (A3uwL gl

AlsR0L y = 3x HIZ WA ERL.

Us(Aul APQRS(l ollzyll QP A RQal AajsA (gl s wal T Yl dolldet

8. %l £SPR = 135 °&l2l Wal £PQT = 110 °&l2l ll PRQ ANl

4
P18

WIs(AHl AB Il €D, EF L CD W\ 2GED = 126° A\ 2AGE, LGEF ¥a\ ~FGE
nadl.

US(AHL % vl PQ Wl YL RS (Glg T UR A YsRR BE ¥ LPRT=40°

ZRPT = 95°3al £TSQ = 75°8. ll 2SQT AN .




(8) wUs(AuUl ABII CD e\ CD || EF ¥\ EA L AB ®. %\ £BEF = 65°8l, dl x, y

U zell Hel k.

(9) (A x = 62° Ul £LXYZ =54° 8. B XYZoll £XYZ Ul 2XZYell (deUyS
UefsH YO wal ZO 8lA cdl £0ZY ¥ £Y0Z Al
X

Y ' z
(10) dus(QUl £PQR = 2PRQ, Al Aol $3A ¥, LPQS = 2PRT
P

£

L 4

7oL o
e,
=
o o



[Qewol - D

[Qotdetr Getr UL (E350ll 4 QL) [04]
(1) As % WAHUIAHL x + y = 7 Aol x — 3y = 20l WAW ERL Wal Glalall

Be(dlg 2 Avll.

(2) As AdML sellens yaH BAle: T 10 A uRole €35 BAHle: W2 T 7
8. sIUA AR x U s g y A8 ([d-udd Yu UHl50 vl wal Aol
AUAW ERL.

(3) sl A8 velell Hiusll ARaol 180 ° Ut 8. Ullold 53,

(4) sl °l PQ L PS, PQ [ SR, £SOP =28° Aol LQRT =65°® cl x Wal y
.

(5) Us(Qui AB || CD, ZAPQ = 50 ° sl £PRD = 127°® dl x el y Andl.




Gujarat Secondary and Higher Secondary Education Board,
Gandhinagar

(012) Mathematics (E)
Question Bank-3 (September 2022) pate: 29-9-2022

The school will have to conduct a unit test on its own by preparing a 25 marks

question paper as instructed in the question bank given below.

SECTION - A

Do as directed : (1 mark each) [05]
(A) State True or False:

(1) In the equation 2x - 5 = 0 coefficient of y is 0.

(2) The graph of x = 0 is y-axis.

(3) The equation ax + by + x = 0 has one and only one solution.

(4) (0, 2) is one of the solutions of the equation x - 2y = 4

(5) Iftwo lines intersect, then vertically opposite angles are equal.

(6)  Sum of angles of a triangle is 360°.

(7) A partofline with one end point is called ray.

(8)  The measure of complementary angle of 62° is 28°.

(B) Answer the following by selecting the correct option given below :

(1)  The standard form of x = 5y + 7 is

(A) x-y+7=0 (B) x+y+7=0
(C) x+y-7=0 (D) x-y-7=0
(2) The graph of 3x - 4y is
(A)  Parallel to x-axis (B) Parallel to y-axis
Q) Passes through origin (D) Perpendicular to x-axis
(3) (2, 3) is the solution of
(A) x+y=5 (B) x-y=5
(C) x=y+5 (D) y=5+x
(4)  y-form of the equation 2x-y=3 is
(A) y=2x-3 (B) y=3-2x
(©  y=2x+3 (D) y="3



(5)

(6)

(7)

(8)

(9)

(9]
(1)
(2)
(3)
(4)
(5)

(6)
(7)
(8)

Measure of angle lies between 0 and 90.
(A) rightangle (B) acute angle
(C)  obtuse angle (D) complementary angle

Measure of an exterior angle of a triangle is 105° and interior opposite angles are

equal, then measure of interior opposite angle is

@) 375° (B) 52;°

© 72 (D) 75°

Measure of an angle is eight times its complementary angle, then measure of the
angle is

(A) 20 (B) 160

(& 10 (D) 80

In AABC, A =50° AL = 65° then measure of exterior angle is
(A) 125° (B) 120°

(@) 115° (D) 110°

The measures of two complementary angles are x and 4x then x =
(A) 18° (B) 36°

(C) 54° (D) 20°

Fill in the blanks :

x = 2, y =1 is one of the solutions of 2x + 3y = K, then K =
The standard form of 3y = 0 is

The graph of y = 3 is parallel to axis.

The graph of equation in two variable is always

If a ray stands on a line, then the sum of two adjacent angles so formed is

If a transversal intersects two parallel lines then angles are equal.

In AABC, £A = 54°, £B = 68° then £C =

2A and £B are supplementary angles. If ZA = (2x + 32)° and «B = (2x + 20)°
then £A =



SECTION -B

Answer the following questions (Each question carries 2 marks) [10]

(1) The cost of a notebook is twice the cost of a pen. Write a linear equation is two
variables to represent this statement.

(2)  The cost of 1 kg tea and 2 kg sugar is Rs. 250. Write a linear equation in two
variables to represent this statement.

(3) In aone day cricket match, Sachin & Sahewag together scored 176 runs. Express

in the form of equation in two variables.

(4) Write % — 10 = 0 in standard form. Also write the values of a, b, and c.

(5)  Write the standard form of 5 =2x. Also write values of a, b, and c.

(6)  Write x = 3y in standard form, and write the values of a, b, and c.

(7)  Check whether (2, 0) is the solution of x - 2y = 4.

(8)  Check whether(\/z, 4\/7) is a solution of x - 2y = 4.

(9)  If (1, 3) is one of the solution of 3x + ky = 9 then find value of k.

(10) If(4,-1)is one of the solutions of kx + 5y = 11, find value of k.

(11) Ifthe point (1, 2) lies on a line. Find the equation of the line.

(12) Find the value of kif (-2, -9) is a solution of 2x -y =5

(13) Infigure lines PQ and RS intersect each other at point O. If ZPOR : ZR0Q = 5:7.
Find all the angles.

(14) Infigure find values of x and y.

BV




(15) Infigure lines AB and CD intersect at O. If ZAOC 4+ «BOE = 70° and £BOD =
40°, find «£BOE and reflex 2COE.

C

EN
v

(16) Itis given that XYZ = 64° and xy is produced to point P. Draw a figure from
the given information. If ray YQ bisects £ZYP, find £XYQ and reflex QYP.
(17) Infigureif PQ Il RS, £MXQ = 135° and zZMYR = 40° find 2XMY .

;)
P Q s
et — A
(uﬁ -------------------- .i..)
A
TR s R

(18) Infigureif AB | CD, CD || EF, andy:z=3:7 find x.

(19) Ingiven figure PQ || ST, £PQR = 110° and ARST = 130° find AQRS




(20) Infigure QT L PR, ZTQR = 40°, and ASPR = 30° find xandy.

(21) Ingiven figure if AB || DE, 2BAC = 35°, and «DE = 53° find ADCE

(22) Infigure, points 0 lies on line PQ find x.

4x
-l 40° .
M | : o
P 0 Q
(23) Infigure three lines AB, CD and EF intersect at 0. Find value of y
E A
— X/
< & B
S
E/\
(24)

Measures of angles of a triangle are in the ratio 2 : 3 : 4. Find the measure of each
angle.

(25) Infig. 4 = 60° b = 120° show that line m is parallel to line n.




SECTION - C

Answer the following questions : (Each question carries 3 marks) [06]

(1) Find three solutions of 2x + y = 7.

(2)  Find three solutions of 2x + 5y = 0.

(3) Express 2x + 9 = 0 as equation in two variable. Express the geometric
representation of 2x +9 =0

(4)  Plotthe graph of y = 3x.

(5) Infigure sides of APQR QP and RQ are extended to points S and T. If ZSPR = 105°
and £PQT = 120°, find ARQ.

(6) Infigure AB || CD,EF L CD, and £GED = 126° find AAGE, «GEF and A GE.

Ae F 8

(7) In figure, if PQ L PS, AB || CD, £SQR = 28°, and AQRT = 65° find values of x and
y.




(8) Infigure AB || CD and CD || EF. Also EA L AB.If BEF = 65° find value of x, y

and z.

(9) Infigure &£ = 62°, XYZ = 54°if YO and ZO are the bisectors of XYZ and
XZY respectively of AXYZ, find AZY and XO0Z .

x

(10) Infigure, if AQR = ALPRQ then prove that £LQS = ALPRT.

P

o



SECTION-D

Answer the following questions : (Each question carries 4 marks) [04]

(1) Draw the graph of x + y = 7 and x - y = 3 in the same graph paper. Find the point
of intersection of the lines.

(2)  The taxi fare in a city is as follows :
For the first kilometer, the fare is Rs. 8 and for the subsequent distance it is Rs. 5
per km. Taking the distance covered as x km and total fare as Rs. Y, write a linear
equation for this information and draw its graph.

(3)  Prove that sum of angles of a triangle is 180°.

(4) Infigureif PQ L PS, PQ I SR, SQR = 28° and £QRT = 65° find xandy.

L) Q

(5)




T ATeAfAw 3R 3Taaw AreafAw fawor 43,
el

(12) aifora (H)
FETT-9 TeAdd-3 (RAaFaT 2022) Reiw 20-9-2022

g : fAFT weaded # § FEAEUR RAheT # 39S AR 25 I3
HFAE AT gl |

fasmr - A
fmfaf@a (#), (@) 3R @) & F FA o7 7T g AT (I@F &1 1 3®F) [05]

i Ru v FyaT g7 § A1 39T ? Id18T |
HHRIOT 2x - 5 = 0 F y T oI 0 ¥ |

L)
= 9§
N’

(1)

(2) FHEOT x = 0 FT 3Tl y-318T & |

(3) efwR {AF THAT ax + by + ¢ = 0 FT TH & g § |

(4) (0, 2) T THIGRUT x - 2y = 4 & U & & |

(5) i &Y WW WRER gfdede N, o MufFFE ior s’ g ¢l

(6) TegeT & it ol @ AT 360° BT § |

(7) X1 &1 Ig AT TEHT U €7 3T f§g @l foheor dhgerred ¥ |

(8) 62° & AT HIUT &F YT HIT T AT 28° gIam ¢ |

(@ A fawer Hr qaeed FF Raa =t & gt ffaw :

(1) FHEOT x =5y + 7 HIIAUH TTFIT g |
Ay x-5+7=0 B)yx+d5 +7=0
(C)x +5y-7=0 (D)x-5y-7=0

(2) THEROT3x -4y F @ g |
(A) x-378T & THATTR (B) y-378T & THATR
(C) HeT fNig & & TR ¥ | (D) x-378T W o

(3) afaax Y@« FHRIT T g (2, 3) B |
(A)x+y =5 By x-y=5
C)x=y+5 (D) y =5+ x

(4) THEOT 2x -y = 0 & y T&G&T H GanT ol @hd & |
A)y=2x-3 B)y=3-2x
C)y=2x+3 D)y = =2



0T T AT 0 3R 90° & &g giar & |
(A) THPIUT (B)Fq\ﬂTﬁUT
(C)@W(D)W
Ife v F38[eT & SfgSHIoT 7 AT 105° B AT WS Akl Ha:HHA@ ot

WER AW 8 Al Jcdeh 3c: @ ROT /AT @A E |

(A) 37-° (B) 52-°

(C) 725° (D) 75°

Teh T 1 AT 3Hh GIeh HI0T & AT &H HTS AT g, dl 3H HI0T HT AT
glam |

(A) 20° (B) 160°

(C) 10° (D) 80°

AABC H £A =50° dUT £C = 65° g df AABC & dfgShIUT &l HIY
gram |

(A) 125° (B) 120°

(C) 115° (D) 110°

I7E & qIF HION & AT x 2T 4x &, ar x =

(A) 18° (B) 36°

(C) 54° (D) 20°

farafaf@a a9 T 58 voR Rea syt i qfd fifswe -
X=2,y=13Ig GHROT 2x + 3y = K &I T g @I, dl K =

3y = 0 HHIRUT T ATeh FTET g |
y=3F G ____ & F GHAK gl & |
g% gfawR YRasw g @ e Bl § |

S fohor &1 3ga foig X@r @ gl & faor qur Y@ gant e arel elet
IO T T glc & |

afe T fad® af AR Y@M3iT & gfaedfed &Y dr g6 JIH
S Bl © |

AABC # A =54° TUT «B = 68° & @ «C & AT =

LA TUT £B T HIOT § | ARG £A = (2x+32)° TUT 4B = (2x + 20)° g,
ar <A T HIY =



fasmer - B

ffaf@a g &1 8T # 3caR /T : (TAF FT 2 3F) [10]

(1)

(8)
(9)
(10)
(11)

(12)
(13)

U dAlecgeh HI HAT UF Fod H HAT @ & 60 § | 38 FUF A1 Ffd
el o ToIU gl I arell Tah {T&e AT faf@e |

U fhellame o qur ar fhelamsd ey dr Fel HIAT 250 € @ A 3H
U I gfder Y& FHIUT & Fa®T H 2B |

‘T feadig fhhe #9 & AR 3R FganT o @Y AT FoT 176 T =0
SH YU AT giawl IWH FHAROT & FTTET H AT |

AT =% ~10 =0 HT ATYH TG H gAHT, a, b TN ¢ F AT Ad
HfST |

5 = 2x HHEIUT HI AYH FGET H GAMHY, a, b JAUT ¢ & AT AT HfAT|
x = 3y THUT HI 9 TG&T H gAY, a, b TUT ¢ FT AT AT SISV
(2, 0) Ig THHRIUT X - 2y = 4 & §of & T o1gl ? ST Sl HIfAT |

(VZ, 4VZ) TF GHAEROT X - 2y = 4 &7 5l & & AGT ? SHHT S HIfC |
afg (1, 3) I8 THEROT 3x + ky = 9 & g @, df K &I Heag A fifav]
(4, -1) Ife FAFRIOT Kx + 5y = 11 F g &I, df K & AT AT HIAT |
afe foig (1, 2) U Y@ R 3T G0 &, A 3H 3@ T FHAOT AT AT |
Y fohdel GHIRIOT @1 Hehdd & 7

(-2, -9) T§ HRIUT 2X -y = 5 & T § IAT Aal ? SHH AT FIfAT |
Ipfa & W@l PQ 3 RS e g K W gfaede a=xc § | afe
£PQR: £ROQ = 5:7 §, d @ HIoT AT HIfAT |




(14) 3THfT & x AT y & AT AT FAT

BN
e s

A

»

md

X

"}!
4 a +>
¢ 13{}%3\ D
(15) 3mhfa # W@id, AB 3 CD f&ig O W wfd=de & § | IfG zAoC+
£/BOE = 70° § 31X «BOD = 40° &, af «BOE 3iX yfagdl 2COE F1d Afaw |

Cc

3

(16) £XYZ =64° feam § 3 XY & [ig p dF Sorm aar § | & 15 Fohelr & T
Jepfa ©ifdw | afg 0T YQ, 2ZYP &I #Hciasniaid &l §, ar 2XYQ 3R
gfdadt £QYP & HAT AT HIfAT |

(17) 3mpfa &, IfE PQ I RS, 2MXQ =135° 3R £MYR=40° §, o 2XMY ¥
HIfoT |




(18) 3mepfd #, IfE ABIICD, CD || EF 3R y:iz = 3:7 §, @ x & A Ad AT |
R \ &
A }\ _E?
‘}}
& - e
C \ D
{,:: >

E F
(19) 3mpfa & Ifeg PQll ST, ¢PQR =110° 3R sRST=130° & o «QRS &
ST |
) "l!
p 0O >
: 130°
Ho®
R
(20) 3mpfd &, IfE QT L PR, £TQR=40° 3R £SPR=30° &, o x 3R y A
HfAT |

P
»

SISV




(22)

mpfd &, @1 PQ W fdg O Byd & | POQ T @M &, df x T AT A
FifST |

4x
— o .
P 0 6

3Hfa #, feT Furelr Y@t AB, CD 3R EF & @urch fig O &, v y &

AT AT HIfAT |
E A
MX/
C (8]
Sy
B F

U TS & Al 0T & AGT FIAUT 2:3:4 &, A 37 T & Al Fron
% AT AT HIST |

3Mpfd H 21 =60°,£6 = 120° 8, @ g HIT & @ m TI W@ n ER
AT & |

3
>

e




fasmer - C

farfaf@a weat & 3cax fifow (93@3+ 1 3 3%) - [06]

(1)
(2)

(7)

THDIT 2x + y = 7 & died gof AT hAT |

FHOT 2x + 5y = 0 & ol g1 AT SITaAT |

FHIEOT 2x + 9 = 0 & & W dral FHEGRUT & &I H SAMAIT FA3Eqor
HITAT |

FHOT y = 3x 3o difdu |

3R & APQR T 3t QP 3R RQ 1 H&r: W3t S 3R T de seram
T § | T 2SPR = 105° § 3R 2PQT = 120° &, @ 2PRQ AT HIfAT |

3T & & @Y PQ AT RS WER T f§g W 38 YR Hideog il ¢ b
£PRT = 50°, £RPT = 96°, AT 2TSQ = 75° &, a «SQT AT HfaT|




(8)  3mepfd & AB|ICD TUT CD|EF & | & 8, EALAB & | Ife £BEF = 65° &,
arx, y 3R z & A A1d AT |

o A .

A

(9) 3MHfa H 2x=62° 3 £XYZ=54° § | IR YO 3N ZO HAW AXZY &
£XYZ 3R £XZY & GHAGIAHTSTH §, df £0ZY 3R 2YOZ AT HifAT |
)

(10) 3mpfd & Ifg 2PQR = £PRQ &, dF g FTIT & 2PQS=2PRT ¥ |
P

I\

v



f@amer - D

frfaf@a Tl F§ IRTER 3car 9T (TAF #7714 3F) [04]

(1)

(2)

(4)

TH 3G IT W X +y =7 JAT X -y = 3 F i@ HiAT JAT =t &
giceses fig & fdurs fAfgu |

T R H T 1 o fArafaf@a & | gger fhelide &1 fRar 10 &
g, 3R 3% a1g & gl & Tav gid fhaleiey & fmar 7 & g1 afe aa &
5 gt x Fheieiey &), 3R For frar y & &, dr s v @S gHieRon
faf@u 3R 35 rer@ difav |

&g HITST & v st & Al IOl &7 Tt 180° B & |
amHfa &, IfE PQ L PS, PQ Il SR, £SOR = 28° 31 £QRT =65° §, o x 3Ry
& AT AT HIAT |

b4

K R ¥

3mpfd & IS AB || CD, £APQ =50° 3R £PRD =127° §, o x 3R y A
HIST |
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Gujarat Secondary and Higher Secondary Education
Board, Gandhinagar

(11) Science (E)
Std.-10 Question Bank-3 (September 2022) pate: 28-9-2022

The school will have to conduct a unit test on its own by preparing a 25 marks
question paper as instructed in the question bank given below.

Section A
Total 25 questions are given in this section. Choose any five questions from
the following. (1 Mark for each) [05]
(A) Multiple choice question :
1. What is the S.I. unit in electrical charge ?
(A) Coulomb (B) Ampere
(C) Volt (D) Watt
2. Which of the following instrument is used to measure electric potential ?
(A) Ammeter (B) Voltmeter
(C) Galvanometer (D) Dioptremeter
3. Which of the following terms does not represent electric power in the circuit ?
(A) IR (B) IR?
i (D) V2/R
4. Which of the following does not allow the use of solar heater to boil water ?
(A) A Sunny Day (B) A Cloudy Day
(C) AHot Day (D) A Windy Day
5. Which of the following is a non-renewable source of energy ?
(A) Wood (B) Sun
(C) Fossil fuel (D) Wind
6. Which of the following is the main component of a bio-gas ?
(A) Methane (B) Carbon dioxide
(C) Hydrogen (D) Hydrogen Sulphide



(B)

o 1o~ W

(Y

Fill in the blanks so as to make the following statement true :-

instrument is used to measure electric current is a circuit.

instrument is used to change the value of resistance in an electric circuit.
The S.I. unit of Resistivity is

km / h should be the velocity of wind to keep the turbine in a motion for a
wind mill.

is used as a semi — metal in preparation of a Solar Cell.
In a thermal power station conversion of heat energy to energy takes place.

State Whether the following statements are True / False :

For a given cross section area the amount of charge flowing in a unit time is defined as
electric current.

A voltmeter is always connected in series between the two points of a circuit which
measures electric potential.

Rubber is a good conductor of electricity.

An [deal energy source releases more energy per unit volume.
Methane is a green house gas.

Bio gas constitutes 15%of methane gas.

Answer the following questions in short:

1mA= A.

Draw the Symbol used for a Voltmeter.

Two resistors R1 & Rzare in parallel. Write the formula to find Equivalent resistance
of them.

Who am [: “I convert Solar energy to electric energy “
Write anyone element used in a nuclear reactor to generate energy ?

Give at least one name of energy source which you think will get extinct ?



10.

11.

12.

13.

Section - B

Total 25 Questions are given in this section. Choose any five question from

the following : [2 Marks for each] [10]
Why is Series connection not used in domestic circuits ?

What is the significance of fuse wire to save the damages caused in modern gadgets ?
What is the unit of electric power ? represent in the form of Joule ?

Write the names of two electric appliances which work on principle of joules heating
effect ?

A current of 0.5 A is drawn by a filament of an electric bulb for 10 minutes. Find the

amount of electric charge that flows through the circuit ?

Define electric current ; and also write the formula to find electric current in circuit ?
Draw only the Symbols to show resistor & a battery ?

Draw a circuit diagram using cell, bulb, ammeter and a Key.

State the factors affecting resistance of a circuit ?

A thick and a thin wire made up of same material when connected to a source of battery.
Which of the following will allow more amount of current ? Justify your answer :-

A bulb is connected to a 220V generator having a current of 0.5 A. Find the power of the
bulb ?

An electric refrigerator rated 400 W operates 8 hours / day. What is the cost of the
energy to operate it for 30 days at Rs. 3/- per kwh ?

Find the resistance of a metal by V — I graph
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14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

State two reasons as to why have we to depend on Non - conventional energy sources ?
Which two methods are widely accepted to generate energy from tides of Sea / Ocean ?

Write two methods which are accepted to reduce air pollution from burning of

petroleum products ?

What is the main function of a glass plate and a plane mirror used in a solar cooker ?
Write two advantages of a Solar cell ?

What is biomass ? How is biogas manufactured ?

State limitations of wind energy ?

Which of the energy source will you use to warm your food before having it ?

State the disadvantages of building huge dams ?

Explain in short geothermal energy ?

Hydrogen gas is used as a fuel in a rocket. Will you consider this gas more non - polluted

compared to CNG ? Justify your answer.

Give two examples of renewable energy sources ? Justify your statement.



Section C
Total 10 Questions are given in this section. Choose any two questions
from the following : [ 3 Marks for each] [06]
Which of the following has limitations :-
(A) Wind
(B) Tides (Waves)
State the advantages & disadvantages of solar cooker ?

Answer the following questions :-

Nuclear .
Wind (Uclal)
(RAGAAR) 2o

9%
Hydro (8L€5Q))
16 %

Coal (SlA™)
Petroleum and Natural 62 %

Gas (UzlA2aH ua
gecll cuy)
10%

(A) Which of the following uses maximum energy sources ?
(B) Which of the following uses minimum energy sources ?
(C) Which of the energy source uses thorium ?

State the effect on environment, on demand of energy sources what steps will you

suggest to reduce energy sources ?
How is nuclear energy created ? Explain in short.
Derive the relation to calculate the law of resistance in series for resistors Ry, Rz & R3

Derive the relation to calculate the law of resistance in parallel for resistors Ry, Rz & R3



10.

*

Three resistors of 50, 100, & 30Q) are connected to 12 V battery.

(A) Find the current passing through each resistor.

(B) Total current flowing in circuit

(C) Equivalent resistance of circuit

How will you connect three resistors each of 6Q2 to get an equivalent resistor of 9Q.

Write a short note on Fuse ?
Section D

Total 5 Questions are given in this section. Choose any one question
from the following : [04]
Write ohms law and derive mathematically with the help of an experiment ?
Write an experiment to study the factors affecting the resistance of a wire ?
Write a short note on Bio-gas plant ? (Figure required)
Explain in detail various methods used to generate energy from tides of Sea / Ocean ?

Write a short note on “Solar Cooker”
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Gujarat Secondary and Higher Secondary Education
Board, Gandhinagar

(10) Social Science (E)
Std.-10 Question Bank-3 (September 2022) pate : 29-9-2022

The school will have to conduct a unit test on its own by preparing a 25 marks
question paper as instructed in the question bank given below.

SECTION -A
Total 25 questions are given in this section. Choose any five questions from the
following (1 mark for each) [05]
(A) Match the following :
A B

(1)  Vallabhi (A) Gujarat

(2) Bana (B) Kadambari

(3)  Aachraya Nagarjun (C) Rasratnakar

(4) Father of mathematics (D) Aaryabhatta

(5) Hirakund (E) Mahanadi

(6) Dharoi (F) Sabarmati

(7)  The state having highest poverty (G) Chattisghar

(B) Fill in the blanks :

(1)  The emperor of Vijayanagar Krisha Devarai was the author of Telugu and Sanskrit .
he wrote book

(Amukta Malayada, Kural, Patthupattu)

(2)  The three ways to attain salvation Gyan, Karm and Bhakti is writtenin________ book.
(Ramayan, Rutusanhar, Shrimad Bhagavad Gita)

(3) In 1150 AD Bhaskaracharya had written book
(Lilawati Bijshastra, Leelawati Ganit, Ratanawali Ganit)

(4)  Varaha Mihir wrote book

(Bruhadsamhita, Kamasutra, Yantra Sarvaswa)



(5)

(6)

(7)

(9]
(1)
(2)
3)

(4)

(5)
(6)

(7)
(8)
(D)
(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)

What is main source of groundwater

(Sea, River, Mountain)

In state 7.3% of total sown area is irrigated.

(Assam, Odissa, Mizoram)

The concept of poverty line is first introduced by the director of WHO
(Beadier, Roosevelt, Francis)

State whether true or false:

The great poet of Sanskrit Bhavbhuti wrote the book Uttarramcharita.
Yajurved is known as the Gangotri of music.

Maharishi charka has mentioned over 2000 medicinal herbs in his book
Charkasambhita.

Scholar writer of medicine Vachaya made valuable contribution through his work
“Astang hriday” in the field of diagnosis.

Vishwakarma is known as the founder of principles of construction for temples.

If a person is qualified up to higher secondary and is jobless than he is known as
unemployed.

Krishnaraj Sagar dam is constructed on Krishna river.

Main source of water pollution are polluted water of domestic and industries.
Answer the following question in one or two sentences:

Name the Vedas.

Who wrote Geet Govind?

What is science?

What is technology?

In 15th century the king of Mewad restored the Vastushastra.

‘Grand Anicutt’ canal is constructed on which river?

Sardar Sarovar multipurpose project is built on which river?

Which organization is responsible for estimating the unemployment rate in India?



(E)

(1)

(2)

(3)

(4)

(5)

(6)

By choosing the correct alternative answer the following questions:
Buddhist literature is written in language.

[A] Pali [B] Hindi [C] Brahmi [D]  Gujarati

Which is the very first book of poet Chandabaradai in Hindi literature?
[A] Prithviraj Raso [B]  Vikramdevcharita
[C] Chandrayan [D]  Rajtarangini.
Maharishi Charkha: Charaka Samhita, Maharishi Shusrut............

[A]  Shusrut Samhita [B]  Charka Samhita

[C] Vagbhatta Samhita [D]  Shusrut Shastra

Who popularized the laws of gravitation in his book “Brahmasiddhant”
[A] Brahamgupta [B] Vastsyayan

[C] Grustsmad [D]  Mahamuni parasry

Match the following multipurpose dams with the states got benefited by them.

(D) Bhakhar nangal - [A] Bihar

(2) Kosi - [B] Punjab

(3) Nagarjun Sagar - [C] Gujarat

(4) Narmada - [D] Andhra Pradesh

(1-b), (2,3), (3,c), (4,d)

(1-b), (2-a), (3-b), (4-c)

(1-d), (2-c), (3-b), (4-a)

(1-c), (2-d), (3-a), (4-b)

Which of the following statement is correct:

(1) In India irrigation done by wells and tube wells is more than the irrigation
done by canals.

(2)  Therivers flows from Himachal flows towards which direction.

(3) The water absorbed from earth’s surface and deposited under the earth is
called groundwater.

(4)  Punjab and Haryana has developed in the field of irrigation.



(7)  Which of the following programs motivated the unemployed youth to be self
employed.

(A) Make in India

(B) Startup India

(C) Digital India

(D) Swatch Bharat Abhiyan

SECTION -B

Answer the following questions as directed: (each question carries 2marks)
(Any Five) [10]

(D Define Vedas and write its importance.

(2)  Write about the ancient Buddhist literature

(3)  The contribution of which writers made Gujarati literature prosperous

(4)  Sanskrit literature is known as the golden age of art and drama. Explain.

(5)  Write a note on Tamil Literature

(6)  Amir Khusharo was a poet, historian, mystic saint and composer of music Explain.

(7)  The Student who passed out from Nalanda was considered the ideal student of
India. Explain the statement

(8)  Why Varanasi is a famous pilgrimage?

(9)  Taksashila was the best center for higher education. Elaborate the statement
(10) Wrote a short note on surface water and groundwater.

(11) Among sources of water groundwater source is important. Explain.

(12) What are the merits of multipurpose dam projects?

(13) Water is precious gift of nature. Explain.

(14) Water scarcity is a serious problem. Explain.

(15) Write the ways of water conservation.

(16) Write about the rain water conservation.

(17) Interms of irrigation every state different. Explain.



(18)
(19)
(20)

(21)

(22)

(23)
(24)

What is poverty? Explain its meaning.
Write a short note on rural and urban poverty.

Which programs are included in ‘Gramoday Se Bharat Uday’ program of the
government?

Explain the scheme popular with the slogan “Our Village, Our work, along with
reasonable price.”

Explain the following terms

1. Seasonal Unemployment

2. Disguised Unemployment

Explain the concept of world labour market.

Explain Absolute and Relative poverty.

SECTION -C

Answer the following as directed: (each question carries 3 marks)

(Any two) [06]

(1) Explain the difference between the True great Indian epics Ramayana and
Mahabharata.

(2) Describe the medival literature.

(3)  During the 7th century Vallabhi university of Gujarat was very famous center of
education. Explain

(4) Give information about Nalanda University.

(5)  Write contribution of ancient India to the field of science.

(6)  Ancient India had extraordinary progress in metallurgy. Explain.

(7)  Write the methods to conserve rain water.

(8)  What matters must be considered in water management?

(9) A water body is natural resource. Explain.

(10) Write the features of people living below the poverty line.

(11)

Explain the causes of Poverty.



SECTION -D

Answer the following questions in detail: (Each question carries 4 marks)
(Any one)

(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
(9)
(10)

Taksashila was a center of higher education? Explain.
Give an information about ancient literature.
Chemistry is an applied science. Explain.

Discuss ancient India’s progress in medicine and surgery.

Global affairs are carried out through mathematical discoveries. Explain.

Explain the importance of Astronomy and Astrology.

There is an immense contribution of India to Vastushastra. Explain.
Write the steps to remove poverty.

What is unemployment? Explain the types of unemployment.

Write a short note on world labour market.

[04]
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Gujarat Secondary and Higher Secondary Education
Board, Gandhinagar

(12) Mathematics (E)

Question Bank-3 (September-2022) bpate:29-9-
2022

The school will have to conduct a unit test on its own by preparing a 25 marks
question paper as instructed in the question bank given below.

SECTION - A

Total 25 questions are given in this section. Choose any five questions from
the following. (1 Mark for each) [05]

(A)Choose the correct alternative and fill in the blanks :

(1)  Distance of P(a,b) from the origin is

(A) %+ ? ® V?Z+ 2
OREEEE (D)a+b
(2)  Find the centroid of the A having the vertices as A(3,2), B(7,5), and C(2,2)
(A) (43) (B) (34)
(C) (7.5) (D) (23)
(3)  (22),(2,0) and (0,2) are the vertices of the triangle.
(A) Obtuse (B) lsosceles
(C) Acute (D) Equilateral

(4) If equations x + 2y = 3 and 5x + ky + 7 = 0 have no real roots then k =

(A) K=10 (B) k#0
(C) k== (D) k=-21
(5) InA |if C=3 B=2( A+ B)then B=
(A) 20 (B) 40
(C) 60 (D) 80

1



(6)

(7)

(8)

(9)

)
(1)

(2)

(3)

(4)

(5)
(6)

(7)

If x=a and y=Db isasolution of pair of equations x—y=2and x+y=4

thena= and b=
(A) 3,5 (B) 5,3
(C) 31 (D) -1,-3

If =30,Z=30then M=
(A) 40 (B) 45
(C) 30 (D) 35

According to step deviation method which of the following is true for ~ ?

(A) L2 () =2

c) L2 o) L=

For pair of linear equations if —=— = — then pair of linear equations have
(A) Unique Solution (B) Infinite Solution

(C) No solution (D) Two solutions

Fill in the Blanks:

The distance of the point (-6.2) from X- axis is

The x — coordinate of the point dividing the line segment joining the points

A(X1,y1) and B(Xz, y2) intheratio :1 is

The standard form of the equation 573 1lis

If tens place is X + 1 and units place is y-5 then the two digit number will be

The Mode of 2, 6, 4,5,0, 2,1, 3,2, 3,is
Ifmeanof 6,7,x, 8,y and 14 is 9 then x+y =

Mid-point of the line segment joining the points (6,-2) and (-6,2) is



(C) State whether the following are true or false :

(1) Median = 3 x Mode - 2 x mean

(2)  The cumulative frequency of the class 50-60 is 60 in the following data..

Class 20-30 30-40 40-50 50-60 60-70

Frequency | 10 15 15 20 10

(3) If(2,3)isone solution of equation 2x + 3y + k = O thenk = 13.
(4) Thegraph of equation 3 x = 7 is parallel to x- axis.
(5)  The points (0,5), (0,-9) and (3,6) are collinear points.

(6) Ifthe points (x,0), (0,y) and (1,1) are collinear then 1+l=1

(D) Answer the following ;

(1)  If the sum of the two numner is 20 and the difference is 8 then what is the bigger
number ?

(2)  Which measure of central tendency can be obtained of grouped data graphically
as the x-coordinate of the point of intersection of the two ogives ?

(3)  Find the coordinates of foot of the perpendicular drawn from point (6,-2) to the
y-axi ?

SECTION -B

e Total 25 Questions are given in this section. Choose any five question

from the following : [2 Marks for each] [10]

(1) Solve the following pair of linear equations by the substitution method

X+y=14, x-y = 4
(2)  Solve the following pair of linear equations by the substitution method

V2x +/3y =0, V/3x-/8y =0

(3)  Solve the following pair of linear equations by the substitution method

0.2x+ 0.3y =13, 04x+ 05y = 23



(4)

(5)

(6)

(7)

(8)

(9)

(10)

(11)
(12)

(13)

(14)

(15)

(16)
(17)

(18)

Solve the following pair of linear equations by the elimination method

8x+5y =9, 3x+ 2y =4

Solve the following pair of linear equations by the elimination method

3X -5y -4=0, 9x=2y +7

Solve the following pair of linear equations by the elimination method
X-3y-7=0,3x-3y -15 =0

Solve the following pair of linear equations by using cross multiplication method
2Xx+ 3y=46, 3x+ 5y = 74

Solve the following pair of linear equations by using cross multiplication method
2x+y =5 3x+2y = 8

For which values of p does the pair of equations given below has unique solution?
4x + py + 8 = 0, 2x + 2y + 2 =0

Find the distance between the following pairs of points :

(-5,7), (-1,3)

Find the point on the x-axis which is equidistant from (2, -5) and (-2, 9).

Find the value of a, if the distance between the points A(-3, -14) and B(a, -5) is 9
units.

Find a relation between x and y such that the point (X, y) is equidistant from the
points (3, 6) and (-3, 4).

Find the ratio in which the line segment joining the points (-3, 10) and (6, -8) is
divided by (-1, 6)

Find the coordinates of a point A, where AB is the diameter of a circle whose
centreis (2,-3)andBis (1,4)

Find the distance of point P(-6, 8) from the origin.

Find perimeter of a triangle whose vertices are (0, 4), (0, 0) and (3, 0)

Find the coordinates of the point lying on the perpendicular bisector of the line

segment joining the points A(2, -5) and B(2, 5)



(19)

The marks obtained by 30 students of class X of a certain school in a

Mathematics paper consisting of 100 marks are presented in table below. Find
the mean of the marks obtained by the students.

(xi)

Marks 10 | 20| 36 | 40 | 50| 56 | 60 |70 | 72 | 80 | 88 | 92 | 95
obtained

(f)

Numberof | ¢ | 1 | 3 | 4 | 3 | 2| 4| 4| 1|1 |2]3]1
Students

(20)

(21)

(22)

(23)

(24)

(25)

A survey conducted on 20 households in a locality by a group of students

resulted in the following frequency table for the number of family members in a
household :

Family size | ¢-3 3-5 | 5-7 | 7-9 9-11

Number of 7 8 2 2 1
families

Find the mode of this data.

Find unknown frequency x for the data : x, x + 3, x + 6, X + 9 and x + 12 if their

mean is 10.

In frequency distribution 1=40, f,=50, fo=27, f,=28 and h=10 then find its mode.
Find mendian for 0.05, 0.50, 0.055, 0.505 4l 0.55.
If for the frequency distribution a=50, fid; =— 360, f; = 35 then find mean.

Mean of 10 observations is 23. Later on it was found that instead of 5, in the

calculation, -5 was taken. Then find the correct mean.

SECTION - C

Total 10 Questions are given in this section. Choose any two questions

from the following : [3 Marks for each] [06]
(1) Find the coordinates of the points of trisection of the line segment joining (4, -1) and

(-2,-3).




(2)Find the ratio in which the line segment joining A(1, -5) and B(-4, 5) is devided by
the x-axis. Also find the coordinates of the point of division.

(3)Find the area of a rhombus if its vertices are (3, 0), (4, 5) (-1, 4) and (-2, -1)
taken in order. [Hint : Area of a rhombus = % (product of its diagonals)]

(4)Find the area of the triangle whose vertices are :
(2, 3), (-1, 0), (2, -4)
(5)Solve 2x + 3y = 11 and 2x — 4y = -24 and hence find the value of ‘'m’ for which y =
mx + 3.

(6)For which values of a and b does the following pair of linear equations have an

infinite number of solutions ?
2x+3y=7 (a-b)x+(@a+b)y=3a+b-2
(7) The sum of the digits of a two-digit number is 9. Also nine times this number is twice
the number obtained by reversing the order of the digits. Find the number.
(8) The table below shows the daily expenditure on food of 25 households in a locality.

Daily 100-150 | 150-200 | 200-250 | 250-300 | 300-350
expenditure

(inRs.)

Number of 4 5 12 2 2
households

Find the mean daily expenditure on food by a suitable method..

(9)A student noted the number of cars passing through a spot on a road for 100 periods

each of 3 minutes and summarized it in the table given below. Find the mode of
the data :

Nfumber 0-10 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
ot cars

Frequency 7 14 13 12 20 1 15 8

(10) The distribution below gives the weights of 30 students of a class. Find the

median weight of the students.

Weight 40-45 | 45-50 | 50-55 | 55-60 | 60-65 | 65-70 | 70-75
(inkg.)
Number of 2 3 8 6 6 3 2
students

SECTION-—-D

6



Total 5 Questions are given in this section. Choose any one question

from the following :

[04]

(1) Draw a line segment of length 7.6 cm and divide it in the ratio 5:8. Measure the two

parts.

(2)Construct a triangle with sides 5 cm, 6 cm and 7 cm and then another triangle whose

sides are % of the corresponding sides of the first triangle.

(3)Draw a pair of tangents to a circle of radius 5 cm which are inclined to each other at

an angle of 60°.
(4) The following distribution shows the daily pocket allowance of children of a locality.

The mean pocket allowance is Rs. 18. Find the missing frequency f.

Daily pocket | 11-13 13-15 15-17 17-19 19-21 21-23 | 23-25
allowance
(inRs.)
Number of 7 6 9 13 f 5 4
children

(5) If the median of the distribution given below is 28.5, find the values of x and y.

Class interval Frequency

0-10 5
10-20

20-30 20

30-40 15

40-50

50-60 5
Total 60
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faraer —

o TFERfEd (@), @), (M) 3R (@) F & gl gig g4 gEg Hifaw | [05]
@) R v & R SR @Eeu gaa dfaT |
(1) pab)yFaarigagy &I

O *+2 0 J2+ 20 VZ=72 0 =+
(2)  A(3,2),B(7,5), C(2,2) NS Reg ara Mg ar e &g _ ¥
0 43 0 G4 0 7.5 0223
(3) (22,03R 02)F [y & N feig ¥
() RGO () FAREIE () RO () THAE
(4) TG THFOT +2 =334R5 +k +7=OPMBPSEA AT A k=___
(0 K=10 0 k#0 (O k=="( k=-21
(s) A #H3Ifg C=3B=2( A+ B)ar B__
() 20() 40 () 60 () 80
(6) 3T x=a3iR y=b FNAOT x—y=23_ x+y=4Fga e dra=_ 3R b=___
(A)3,5 (B)53(C)3,1 (D)-1,-3
(7) 3afe =30,z=30¥ @ M=__
() 40 () 450 30 () 35

(8) L & ue fageadr Fd & Ui & T F=T T §




(9) femR Qs gflevor grA & v afd —=— =—ar A FMRT gTA F
() 3T gol el () IEEy g faea
() &l e felar () ar &l el

@) A QU 7 9 380 R R Tu=E & gid fifaw:

(1) g (-6,2) T - 3187 & ofFd IR ___ 7|

(2) &g A(xi, y1) 3R g B(xz, y2)@l Slisal dlel YI@E@s &l @1 & HUId A fAnfaa e
arel fdg &1 - A ¥

(3) AR =1 T YA TI¥U (

273
(4) RS W HF  +1 AR THS F 3B -5 o A A 3 N TP T T |
(5)  2,6,4,50,21,3,2,3,% ggah el

(6) 6,7,%x,8 3R 14 &1 AT 9 T T x+y =

(7)  Toig (6,-2) 3R (-6,2) B Shsrdrel IW@Es & HLANIG & AH gl
@@ O e g € 91 39T 9
(1) IR = 3 X Tgelh - 2 X AT

(2) fRafof@a grol & g7 50-60 H TR IRIRAT 60 1

qaT 20-30 | 30-40 | 40-50 | 50-60 | 60-70

IREIRAT | 10 15 15 20 10

(3) THPWI 2 +3 + ZOBMUP A (2,3) @ A = 13 B
(4) 3 = 7 GHBOT &H AW - 38T & FAAT 3@ aoft

(5)  (0,5),(0,-9) 3R (3, 6) T ¥

(6) TR [ig (x,0), (0y) 3R (L) T & A +==18mm

3



() T ust &7 UF Asg AT Th arg A R Qo :

(1) & I3 &1 JET 20 3R A 8 & a 3TH J8I TEAT phid AT el

(2) aifipa AMfRect & o ufdedea egat & I @R o™ W & ALFadt Fafaare
& PleT T AH TF B &

(3) fdg (6,-2) # & v-318T W TAIT IV o &P ofFaUlG b ATH A P |

faraer —

faw oAt & 3R ST | (URAF F 2 36) (fFefl gia) [10]

(1) g e e & o ufaeaua fad @ aa & |
X+ y=14 , Xx—y =4

(2) fegge Was @axor & & ufaeaua fad & &0 |
V2x+v¥3y=0, V3x-V8y=0

(3) Tega Yas galeror @1 & ufacuma fadr @ Jd & |
0.2x+ 0.3 =1.3, 0.4x+ 0.5y = 2.3

(4) TReaa as e @ & [Jeiua adr § 919 o |
8x+5 =9, 3x+ 2 =4

(5) TReaa &s e & g e adt § 9 o |
3x-5-4 =0, Ix = 2 +7

(6) fegae Y&® Faawor & & [eiua fadr & sa & |
x-3y-7= 0, 3x -3 - 15 =0

(7) Tega & gfexor & & a9 o= I & a9 &0 |

2x+ 3y= 46, 3x+ 5 =74



(8) (7)) Tegwrer Yi&e HHABIUT 1 Tol a9l UM fad § A A |
2x+y = 5 , 3x+2 = 8

(9) P & frg A & forw THA0T &7 g AT e
4 + +8=0,2x+2 +2=0

(10) (-5, 7) 3R (-1, 3) Ta=g3il & drar &1 g & A |

(1) (2- 5) 3R (-2, 9) @ FAGIEY - 38T W & feig oA A |

(12) afE g A(-3,-14) ¥R B(a -5) % o FT gl 9 s @ & &1 P w1 Y |

(13) fig (x,) Te fg (3,6) 3N (3, 4) @A g W al 3R & fw Fav
Grdl

(14) g (-1,6) I% Teig (-3,10) 3R (6,-8) & Silgel aTel YWEs A fohq Ui & faenfaa
BT |

(15) gd B A & gd BT deg (2,-3) IR B(L,4) & A g & I 1A HY |

(16) fdg p (-6,8) &1 oA feig & gl =T Y |

(17) (0 ,4), (0,0) 3R (3,0) MY fiig arel FAegaT o1 TRAT AT A |

(18)  A(-2,-5) 3iR B(2,5) & Sz dTel IWTW@S & ofdd FATGHISTD & ATH ATd U |

(19) frEY Tt &1 Fem 10 F eI RT A0T & Th 9o H 100 # F U@ R
AT 3P AT TH RN A Gu av § 59 faeufdat <err urg 3 &1 aeg Ad
e |

UTdich 10 |20 |36 |40 |50 |56 |60 |70 |72 |80 |88 |92 |95

efdat | 1 1 3 4 3 2 4 4 1 1 2 3 1

T g




(20) TaeTTidAt & UH FAE ERT Th Alged & 20 URART W R 7T Fdator & gRomaH
Ty e aRart & dewdi Y wear @ @afda e faf@a nes o ge
gRar #a | 1-3 3-5 5-7 | 7-9 9-11
gRart & |7 8 2 2 1
&

ATt T ageteh ATl I |

(21) 3Tl X, x+3, x+6, +9 3R +12 P ATCT 10 & A 3T dAbd AT B |

(22) 3mgfa facRor &7 I1=40, £,=50, f,=27, f,=28 3R h=10 & TgeIch A A |

(23) 0.05, 0.50, 0.055, 0.505 3R 0.55 I ATEIR ATT BT |

(24) TP 3ngfd AROT F a=50, =— 360, =35 @ dl A" AT |

(25) 10 3Jllhedl BT ALY 23 & G H AT UST &I Teh Hdellhed 5 & dcol -5 o
forar ar=m a1 A TE AT AT W |

frstrer —

A v4T & Ffarar 3R *f@T | (T &1 3 ) (@t @) [ 06]

(1) fa=g(4,-1) 3R (-2,-3) @ S ae @rEs B FA-FATSAT H are foeg3it &
A& aa AT |

(2) @8 3guid W Hiioe fSwd faeg3it A (1, -5) 3R B (-4, 5) @ A arern t@m@s -
3e7  Rwfaa adar @ |, 38 e fig & Rdae o aa He |

(3) UP FHAAJHS & &F%hd g Hifad foad MY @ w3 & (3, 0), (4, 5), (-1, 4)3R
(_21_1)%|
Hehd: [ FHAIGHS T &F%hel= 1/2 ( 3HD [IhUll &l IOTAR) ]

(4) 38 By & sF%a Ad HifFT FEs A (2, 3), (-1, 0) 3R (2, -4) ® 1

(5) 2 +3 =M3R2 -4 =-24F FT NAC IR 3T 'm’' FT g§ AT Id HifoA

S|d fow =+3 %TI



(6)

B |

2X +3Y=7,(a-b)X + (a + b)Y=3a + b -2

(7)

¥ Tl §&AT &7 a1 IAT & , I8 6l Ad Hio |

(8)

AR & fohT At & fow e Y@ wftetol & A 3aRfAT &7 4 36d oo

ar 3l 1 H&AT F bl B AT 9 ¥ TH FEAT &I Al IAT , HEAT & 3l P Yeled

fAefoi@d arol fhdl Alged & 25 URART & Hisd W U &fAd g &l g &

G LR L] 100-150 150-200 200-250 250-300 300-350
(Fgat )
uRaRT &1 g&ar | 4 5 12 2 2

HISiel W §U AT =49, Ao qeufd & 3G &Y Al Hiford |

(9)

U faeardt 3 uh @seh & Rl TUE F @A Sl g BRI b1 FEAW Ale dr 3R

3e6 o/ & g8 WROM & ®U A caeh Rpar @Rol # fear ucde daror 3 fAfae &
T A 39 TUT F @ A drel PRI BT &I T ai9d & | T 100 3iarali
W UeIoT fT 7T g7 377hsl & Tgeleh WAl MISAT |

PRI & | 0-10 10-20 20-30 30-40 | 40-50 50-60 60-70 70-80
TEam
IEARAT | 7 14 13 12 20 11 15 8

(10)

A e g3 ¥ed, Teh et $ 30 faeanidat & o g W@ ¥ | et o g

ARSI hITa |
AR (fpellama) | 40-45 | 45-50 | 50-55 | 55-60 | 60-65 | 65-70 | 70-75
2 3 8 6 6 3 2

ey fr
e




faraer -

A7 ust & goear 3R T | (U2 &1 4 376) (i ) [04]

(M

(2)

(3)

(4)

7.6 @ Uh Y@rE@s @ifw AR 3§ 5:8 quid A Renfaa Hifce ) Gt st @
AT |

5cm, 6cm 3R 7 ST dTel Teh TSN I Tar HIiST | T T 31 FHST & T&ar
HITST Toraeht ot fqu gu F9get &1 Hored $oait &y — I & |

5 BIsar & th gad W o & Tl WU FifRw S WE 60° & HI0T U S & |

AT ded W Th Alged & dodl & A Jg@d ATar & | AT J9@d 18 Uy &
JH IRARAT A1 PG |

A I9 =T | 11-13 13-15 15-17 17-19 19-21 21-23 23-25

& 7 6 9 13 5 4

(5)

Ife & QU gU deat &1 ey 28.5 @ Al AR & AT AT HifSC:

I IHRTA IREARAT
0-10 5
10-20
20-30 20
30-40 15
40-50
50-60 5
piE| 60
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